

Scattering Rate Calculations Overview

Step 1: Determine Scattering Potential

$$U_S(r,t) = U^a(r)e^{-i\omega t} + U^e(r)e^{+i\omega t}$$

Step 2: Calculate Matrix Elements

$$H^{a}_{k'k} = \int_{V} \psi_{nk'}(r) \ U^{a}_{s}(r) \ \psi_{nk}(r) \ d^{3}r$$

Step 3: Calculate State-State Transition Rates

$$S(k,k') = \frac{2\pi}{\hbar} \Big[|H^a_{k'k}|^2 \delta(E(k') - E(k) - \hbar\omega) + |H^e_{k'k}|^2 \delta(E(k') - E(k) + \hbar\omega) \Big]$$

Step 4: Calculate State Lifetime

$$\frac{1}{\tau(k)} = \sum_{k'} S(k,k') \left(1 - f(k')\right)$$

Step 5: Calculate Ensemble Lifetime

 $< \tau >$













Boltzmann Transport Equation

$$\frac{df(r,k,t)}{dt} = \sum_{k'} \left(f(k')(1-f(k)) S(k',k) - f(k)(1-f(k') S(k,k')) \right)$$
1-D

$$\frac{df(r,k,t)}{dt} = \frac{\partial f}{\partial t} + \frac{\partial f}{\partial r} \frac{\partial r}{\partial t} + \frac{\partial f}{\partial k} \frac{\partial k}{\partial t} = \sum_{k'} \left(f(k')S(k',k) - f(k)S(k,k') \right)$$
Inserting semi-classical equations of motion...

$$\Rightarrow \frac{\partial f}{\partial t} + \frac{\partial f}{\partial r} \cdot \frac{\hbar k}{m^*} + \frac{\partial f}{\partial k} \frac{F}{\hbar} = \sum_{k'} \left(f(k')S(k',k) - f(k)S(k,k') \right)$$
3-D

$$\frac{\partial f}{\partial t} + \frac{\hbar \overline{k}}{m^*} \cdot \overline{\nabla}_r f + \frac{\overline{F}}{\hbar} \cdot \nabla_k f = \sum_{k'} f(k')S(k',k) - \sum_{k'} f(k)S(k,k')$$
Boltzmann Transport Equation





$$\begin{aligned} \text{Relaxation Time Approximation} \\ &\sum_{k'} \left(f(k')S(k',k) - f(k)S(k,k') \right) \\ &= \sum_{k'} \left(f_S(k')S(k',k) - f_S(k)S(k,k') \right) + \sum_{k'} \left(f_A(k')S(k',k) - f_A(k)S(k,k') \right) \\ &\text{For low-field transport...} f_S(k) \approx f_o(k) \\ &\approx \sum_{k'} \left(f_A(k')S(k',k) - f_A(k)S(k,k') \right) \\ &= -\sum_{k'} f_A(k) \left(S(k,k') \left(1 - \frac{f_A(k')S(k',k)}{f_A(k)S(k,k')} \right) \right) \\ &= -f_A(k) \sum_{k'} \left(1 - \frac{f_A(k')S(k',k)}{f_A(k')S(k,k')} \right) S(k,k') \\ &= -\frac{f_A(k)}{\tau(k)} \end{aligned}$$

Resistor Example
BTE Solution under RTA

$$\frac{\partial f}{\partial t} + \frac{\hbar}{m^*} \overline{k} \cdot \overline{\nabla}_r f + \frac{\overline{F}}{\hbar} \nabla_k f = -\frac{f_A}{\tau(k)} \approx \frac{-(f - f_0)}{\tau(k)}$$
For steady-state transport under a uniform electric field....

$$\Rightarrow \frac{\partial f}{\partial t} = 0 \qquad \Rightarrow \nabla_r f = 0$$
For low field transport....

$$f = f_s + f_A \qquad \Rightarrow f_A \ll f_s \qquad \Rightarrow f_s \approx f_0$$
BTE reduces to... $\frac{-q}{\hbar} E_z \frac{\partial f_o}{\partial k_z} = \frac{-f_A}{\tau(k)} \qquad \Longrightarrow f_A = \tau(k) \frac{q}{\hbar} E_z \frac{\partial f_0}{\partial k_z}$



$$\begin{aligned} \text{Resistor Example}_{\text{BTE Solution under RTA}} \\ J_z &= -qn < v_z > = \frac{-q}{V} \sum_k \frac{\hbar k_z}{m^*} f(r,k) \\ J_z &= \frac{-q}{V} \sum_k \left(\frac{\hbar k_z}{m^*} f_x(r,k) + \frac{\hbar k_z}{m^*} f_A(r,k) \right) \\ J_z &= \frac{-q}{V} \sum_k \frac{\hbar k_z}{m^*} f_A(r,k) \\ < v_z > &= \frac{\sum_k \frac{\hbar k_z}{m^*} f_A(r,k)}{\sum_k f_0(r,k)} \approx \frac{1}{n} \sum_k \frac{\hbar k_z}{m^*} \frac{\tau(k)q E_z}{\hbar} \frac{\partial f_0(r,k)}{\partial k_z} \\ &= \frac{1}{n} \sum_k \frac{k_z \tau(k)q E_z}{m^*} \frac{\partial f_0(r,k)}{\partial k_z} \end{aligned}$$

Resistor Example BTE Solution under RTA

$$f_{o}(r,k) = e^{(E_{F}-E_{c})/k_{B}T_{L}} e^{-\hbar^{2}k^{2}/2m^{*}k_{B}T_{L}}$$

$$\frac{\partial f_{o}}{\partial k_{z}} = e^{(E_{F}-E_{c})/k_{B}T_{L}} \left(\frac{-\hbar^{2}k_{z}}{m^{*}k_{B}T_{L}}\right) e^{-\hbar^{2}k^{2}/2m^{*}k_{B}T_{L}}$$

$$\frac{\partial f_{o}}{\partial k_{z}} = f_{o}(r,k) \left(\frac{-\hbar^{2}k_{z}}{m^{*}k_{B}T_{L}}\right)$$

$$< v_{z} >= \frac{1}{n} \sum_{k} \frac{k_{z}\tau(k)q E_{z}}{m^{*}} \frac{\partial f_{o}(r,k)}{\partial k_{z}}$$

$$= \frac{1}{n} \sum_{k} \left(\frac{k_{z}^{2}\tau(k)q E_{z}}{m^{*}^{2}k_{B}T_{L}}\right) f_{o}(r,k)$$

$$\begin{array}{l} \begin{array}{l} \begin{array}{l} \text{Resistor Example} \\ \text{BTE Solution under RTA} \end{array} \\ < v_z > = \frac{1}{n} \sum\limits_k \left(\frac{k_z^2 \tau(k) q \, E_z \, (-\hbar^2)}{m^{*2} k_B T_L} \right) f_o(r,k) \\ \\ = \frac{1}{n} \sum\limits_k \left(\frac{-2}{3} \frac{\hbar^2 k^2}{2m^*} \tau(k) \frac{q \, E_z}{m^*}}{k_B T_L} \right) f_o(r,k) \\ \\ = \frac{-\sum_k \frac{\hbar^2 k^2}{2m^*} \tau(k) \frac{q \, E_z}{m^*} f_o(r,k)}{< E >} \\ \\ = \frac{-q \, E_z}{m^*} \frac{< E \tau(E) >}{< E >} \\ \\ \equiv -E_z \mu_n \qquad \qquad \Rightarrow \mu_n = \frac{< E \tau(E) >}{< E >} \frac{q}{m^*} \end{array}$$

Resistor Example BTE Solution under RTA

BTE solution for mobility defines relationship between scattering and mobility...

$$\Rightarrow \mu_n = \frac{\langle E\tau(E) \rangle}{\langle E \rangle} \frac{q}{m^*}$$

In the Boltzmann Limit...

$$\langle E \rangle = \frac{3}{2}nk_BT_L$$

For Acoustic Deformation Potential Scattering...

$$\frac{1}{\tau(E)} = \frac{\pi D_A^2 k_B T_L}{\hbar \rho v_s^2} g(E)$$

$$\langle E\tau \rangle = \langle \frac{1}{2}m^*v^2\tau \rangle = m^* \langle v^2\tau \rangle$$

 $\mu_n = \frac{qD}{k_BT_L}$
 $D = \text{diffusion constant}$

$$\begin{aligned} \text{Relaxation Time Approximation} \\ \sum_{k'} \left(f(k')S(k',k) - f(k)S(k,k') \right) \\ &= \sum_{k'} \left(f_S(k')S(k',k) - f_S(k)S(k,k') \right) + \sum_{k'} \left(f_A(k')S(k',k) - f_A(k)S(k,k') \right) \\ &\text{For low-field transport...} f_S(k) \approx f_o(k) \\ &\approx \sum_{k'} \left(f_A(k')S(k',k) - f_A(k)S(k,k') \right) \\ &= -\sum_{k'} f_A(k) \left(S(k,k') \left(1 - \frac{f_A(k')S(k',k)}{f_A(k)S(k,k')} \right) \right) \\ &= -f_A(k) \sum_{k'} \left(1 - \frac{f_A(k')S(k',k)}{f_A(k)S(k,k')} \right) S(k,k') \end{aligned}$$

$$\begin{aligned} \text{Relaxation Time Approximation} \\ \text{Detailed Balance} \\ \sum_{k'} \left(f(k')S(k',k) - f(k)S(k,k') \right) &= -f_A(k) \sum_{k'} \left(1 - \frac{f_A(k')S(k',k)}{f_A(k)S(k,k')} \right) S(k,k') \\ \text{In equilibrium...} \\ \sum_{k'} \left(f_o(k')S(k',k) - f_o(k)S(k,k') \right) &= 0 \\ \text{Detailed Balance...} \\ \frac{S(k',k)}{S(k,k')} &= \frac{f_o(k)}{f_o(k')} \\ \text{Out of equilibrium...} \\ \frac{df}{dt} \approx -\sum_{k'} f_A(k)S(k,k') \left(1 - \frac{S(k',k)f_A(k')}{S(k,k')f_A(k)} \right) &= -\sum_{k'} f_A(k)S(k,k') \left(1 - \frac{f_0(k)f_A(k')}{f_0(k')f_A(k)} \right) \end{aligned}$$

Relaxation Time Approximation
Isotropic Scattering

$$\frac{df}{dt} = -f_A(k) \sum_{k'} S(k,k') + f_A(k) \left(\frac{f_o(k)}{f_A(k)}\right) \sum_{k'} \frac{S(k,k') f_A(k')}{f_o(k')}$$

$$S(k,k') = S(k,-k')$$

$$\Rightarrow \sum_{k'} \frac{S(k,k') f_A(k')}{f_0(k')} = 0$$

$$\Rightarrow \frac{df}{dt} = -f_A(k) \sum_{k'} S(k,k') = \frac{-f_A(k)}{\tau(k)}$$

$$\begin{aligned} & \frac{df}{dt} = -f_A(k) \sum_{k'} S(k,k') + f_A(k) \left(\frac{f_o(k)}{f_A(k)}\right) \sum_{k'} \frac{S(k,k')f_A(k')}{f_o(k')} \\ & \text{Low-field transport...} \\ & f_A(k) = \frac{-q\tau(K)f_o(k)\hbar}{k_BT_Lm^*} \,\overline{E} \cdot \overline{k} = -a\tau(k)f_o(k)Ek\cos\theta \\ & \frac{df}{dt} = -f_A(k) \sum_{k'} S(k,k') \left(1 - \frac{f_o(k)a\tau(k')f_o(k')Ek'\cos\theta'}{f_o(k')a\tau(k)f_o(k)Ek\cos\theta}\right) \\ & = -f_A(k) \sum_{k'} S(k,k') \left(1 - \frac{\tau(k')k'\cos\theta'}{\tau(k)k\cos\theta}\right) \\ & = -f_A(k) \sum_{k'} S(k,k') \left(1 - \frac{\cos\theta'}{\cos\theta}\right) \quad \text{(Elastic scattering } |k'| = |k|) \end{aligned}$$

